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4 Marks Questions (4 eÖsÁTØ\ ç|�Xø�\T)

1. How did the East India company procure regular supplies of Cotton and Silk textiles
from Indian Weavers?
�dt¼ �+&�jáÖ ¿£+�|ú uó²sÁrjáT #ûHûÔá ¿±]�Å£�\ qT+&� �sÁ+Ôás�jáT+>± ç|�Üï, |�³T¼ eçkÍï\

kÍ<ó�sÁD d�sÁ|��s�\qT mý² �d¿£]+º+~?

2. Why did some industrialists in 19th century Europe prefer hand labour over
machines?
19e XøÔ��Æ|�Ú ×sÃbÍýË� ¿=+Ôá eT+~ bÍ]çXæ$T¿£yûÔáï\T jáT+çÔ�\ ¿£+fñ #ûÜ |��¿ì m+<�TÅ£�

çbÍ<ó�q«ÔáqT �#�ÌsÁT?

3. Why did Industrial production in India increase during the First World War?
yîTT<�{ì ç|�|�+#á jáTT<�Æ+ d�eTjáT+ýË uó²sÁÔá<ûXø+ýË bÍ]çXæ$T¿£ �ÔáÎÜï m+<�TÅ£� �|]Ð+~?

4. Explain what is meant by Proto-Industralisation?
çbþ{Ë bÍ]çXæ$T¿¡¿£sÁDqT $e]+#áTeTT?

5. Why the East India company appointed Gomasthas to supervise weavers in India?
uó²sÁÔá<ûXø+ýË HûÔá ¿±]�Å£�\qT |�sÁ«yû¿ì�+#á&��¿ì �dt¼ �+&�jáÖ ¿£+�|ú >·TeÖkÍï\qT m+<�TÅ£�

�jáT$T+º+~?

6. “Women workers in Britain attacked the Spinning Jenny” - Why?
»»ç_³H�ýË� eTV¾²Þ² ¿±]�Å£�\T qÖ\T e&�¹¿ jáT+çÔá+�|Õ <�&� #ûXæsÁTµµ ` m+<�TÅ£�?

4. The Age of Industralisation
bÍ]çXæ$T¿¡¿£sÁD jáTT>·+
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